Connoisseur Media 5966 Grove Hill Road Frederick, Maryland 21703 Phone: (301) 663-4181 Advertiser: Order #: Dan Cox for Congress 176093780737

Contract #:

10645

Date Entered: Last Modified: 05/07/2024 05/07/2024

Product:

Salesperson: Billing Cycle: Daphne McKee Broadcast Standard

Estimate #:

Dan Cox for Congress 10540 Swerling Way Raleigh, North Carolina 27614

Order Date Range: 05/08/2024 through 05/14/2024 (1 weeks)
Media Outlets: WFMD-AM, WFRE-FM

On-Air Schedule

#	<u>Dates</u>	Station	Time/Program	<u>Len</u>	Mo	Tu \	<u>Ve</u>	<u>Th</u>	Fr	Sa	<u>Su S</u>	<u>/W</u>	Rate	Qty	<u>Total</u>
1	05/08/24-05/10/24	WFRE-FM	06:00AM-09:00AM	60			2	2	2			6	180.00	6	1,080.00
2	05/13/24-05/14/24	WFRE-FM	06:00AM-09:00AM	60	2	2						4	180.00	4	720.00
3	05/08/24-05/10/24	WFRE-FM	04:00PM-07:00PM	60			2	2	2			6	180.00	6	1,080.00
4	05/13/24-05/14/24	WFRE-FM	04:00PM-07:00PM	60	2	2						4	180.00	4	720.00
5	05/08/24-05/10/24	WFMD-AM	06:00AM-09:00AM	60			2	2	2			6	91.00	6	546.00
6	05/13/24-05/14/24	WFMD-AM	06:00AM-09:00AM	60	2	2						4	91.00	4	364.00
7	05/08/24-05/10/24	WFMD-AM	04:00PM-07:00PM	60			2	2	2			6	91.00	6	546.00
8	05/13/24-05/14/24	WFMD-AM	04:00PM-07:00PM	60	2	2						4	91.00	4	364.00

Station Totals

<u>Station</u>	On-Air Count	Digital Count	Web Count	Other Count	Gross Billing	Net Billing
WFMD-AM	20	0	0	0	\$1,820.00	\$1,820.00
WFRE-FM	20	0	0	0	\$3,600.00	\$3,600.00
Totals	40	0	0	0	\$5,420.00	\$5,420.00

Total Charges: Total Net: \$5,420.00 \$5,420.00

Projected Billing By Broadcast Standard Month

Month	Year	Gross Billing	Net Billing
May	2024	\$5,420.00	\$5,420.00
Totals	AND ASSESSMENT OF A STATE OF A ST	\$5,420.00	\$5,420.00

AGREEMENT FORM FOR POLITICAL CANDIDATE ADVERTISEMENTS

(check applicable	check applicable box) FEDERAL CANDIDATE STATE/LOCAL CANDIDATE								
To Avail Themselves Of The Lowest Unit Charge During A Political Window, Federal Candidates Must Sign The Certification On Page 3									
Station and Location: WFRE/WFMO Sqle Grove Hill Rd. Predence, MO Date: 4/22/24									
being/on behalf of:									
Broadcast Day, Package Days Class Times per Week Weeks									
30 NPRC M-F Politral 10 x Seconds Sq-90 AM+PM Pre- Not per. 30-80 AM+PM Pre- Not per. Station									
Attach proposed schedule with charges (if available):									

I represent that the payment for th	e above described broadcast time	has been furnished							
by: Visi	A 4036 2301 1020	8876 64P. 10/27							
DAN COX	10540 Swerling	WAY 188							
and you are authorized to announce the time as paid for by such person or entity. I represent that this person or entity is either a legally qualified candidate or an authorized committee/organization of the legally qualified candidate.									
The name of the treasurer of the candidate's authorized committee is: CMNCO, LLC Collin McMiddel Colling Commundo com Rioy, NC 27624									
This station has disclosed to me its political advertising policies, including: applicable classes and rates; and discount, promotional and other sales practices (not applicable to federal candidates).									
THIS STATION DOES NOT DISCRIMINATE OR PERMIT DISCRIMINATION ON THE BASIS OF RACE OR ETHNICITY IN THE PLACEMENT OF ADVERTISING.									
To Be Signed By Candidate or Authorized Committee									
4/22/2024	Wild) 							
Date	Signature								
To Be Signed By Station Representative									
Accepted	☐ Accepted in Part	☐ Rejected							
Dappu Milla	Daphne Mikec	Acci mare							
^t Signature	Printed Name	Title							

CANDIDATE CERTIFICATION

In Order For Federal Candidates to Receive The Lowest Unit Charge During a Political Window, the Following Certification is Required:

I,	DAN	Cox		
(nar	ne of federal candidate e broadcast (in whole o	or authorized or in part) pursu	committee) hereby cert ant to this agreement:	ify that the programming
	□ does	X	does not	
refe prog	r to an opposing candid gramming that does ref	late (check app er to an opposi	licable box). I further ong candidate:	certify that for the
(che	ck applicable box)			
×	the radio programmi identifies the candida approved the broadca	ite, the office b	ersonal audio statemen eing sought, and that th	t by the candidate that e candidate has
	image of the candida displayed printed stat	te for a duration tement identify at the candidate	s a clearly identifiable parties of at least four seconding the candidate, that the and/or the candidate's	ls, and a simultaneously he candidate approved
	(bl)			
	sign	nature of candidat	e or authorized committee	
	Das Cox			4-22-24
	pri	inted name		date